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The sequence will CONVERGE to a number.

This is the answer.

This is an iteration formula U = U, + 4 n stands for the nth term. Like sequences.

3

U; s the first term. Put this in the formula.The answer is called U,
U, s the second term. Put this in the formula.The answer is called U3

Uz s the third term. Put this in the formula.The answer is called Uy,

u, = n=1 U, =
n=2 U3 =
n=3 Uy =
n= Ug =
n=5 Ug =

n=6 U7 =

to & dp-



Iteration

X1 |5 Round to 4.d.p
1) Xn41 = /20 — x5, . | 3 8730
On your calculator x3 | 40159
x |3 4980
N xs | 4 000%
X6 | & - OO0OO0
2) V20— Ans
3) = (also SD if answer not a
decimal)
4) Repeat pressing =

The answer is x = L"oo t‘o Zp

1
This is the solution to the equation x? + x = 20. Show this is true. 4-00 + 4-00 +vree
16 +«= 20 ’
2) 3
Xpt1 = [3x.. + 25 x1 |4 Round to 4 d.p.
n+ n % | 3 3322
On your calculator xs | 3-27 10
Xa | 3° 2552
1 4= Xs 3- Zé &7
3 X6 3 . 26""6
2) V3 xAns+25 3 2¢ub
3) = (also SD if answer not a
decimal)

4) Repeat pressing =

Theanswerisx=§_‘_&_ to2d.p. 3'263"’3"}26 =24.%7

This is the solution to the equation x3 - 3x = 25. Show this is true. W"\/ bl
_ 3 x1 |3 round to 4 d.p.
3) Xn+1 = Z + X2 3 . 3
X3 |3 -3
On your calculator X4 |3~ 3030
N a- xs 3:30238
B x6s |3:-3028
1 -
Ans
3) = {(also SD if answer not a
decimal)
4) Repeat pressing = 3 .307' - Ix330-1° -0-0l
The answer is x = 3-30 to2d.p. TL\A.S \U W‘Mﬂ[\a/g O

This is the solution to the equation x? - 3x — 1 = 0. Show this is true.

(2)




